Qf{'mi [Yaa/:izrn

Let hit) e£——> HUs)

£ oWy
! Less Yhan the omdar o
lLl (s) = Il;/ié)) Y order o; N(s) s <
T oymormiaks
¢ A
4 At— A3 o "
N(s) Aﬂ_ re i
RG) = S N s — Py S Px
G-PMs =) - (-0 :
-{_o ‘{:7\0( A',

Ai= (( $-%) “(Sﬁ \
N =
>

N\
Ae s clled "pesidae

Example‘3 1:

S+12 S+ 2 A A » As
H(s)——- = —_— = < * Y PITY
Sadst 4 38 S (s+4\) (s 3)

Now : A, = {s k\m“}\ .St \ 2

S=o

(CESS HCTE B PPN 3
A, = ((SH\ \—\Ls;)\ = S \ .
. s (gx3) T S=-0

As = (6on HL%\ _ DEo = S

$=-3 s (s &)

' A
ﬁnwu:j; pewribe  RG) W kerms sf A, Az s iy

b7 M % -\/6



HES) - j- 25 4\ ¢ -2¢ 4\
=
S’. 3“, W +2 (50\-3)\;~‘~')\\"\)
- x * A F M
(s41-)) (s 4\ &) s A\
Nou): A = [(S«-\-:\) \\L\)‘S\ . _ o2 o\ \' . *jz
Sa-\4) ““_‘-ﬂksq\\ ¢ 2-\A) A
Ay = [ e \\ks)-\\ | P o
Sa=-\-) = . ‘-\-.) o /1- -)-L
(sar-j) (se)) 87
%
As = [Lsn\ﬂbﬂ\ _ S ~2¢ 4\ _ oy
Sizr=N (S&l-l)\‘)*\ﬁ)) s=-\ °
— W) = hMr | Zaot
$+\-) Sal i Sa\




ReQead e\ Poles

His) = NG
(3-RY --- 3-P)
AL
s Wy = DD CA A e TR
-0 - (s-Pa) =R wRD
Eﬁwf\p\g:
e TR S S
s> (san) s sv s?

LS\") o A\\\;)

= S$4% L ASGEY o A S(S*\lI,L/———

53-(';«!\) 3 ( S‘\'\)
3
S
Now: sa2 = A F(sa) + Ax S(s+\) + Ag (s¥V) + Ay
F"S{ . $=0 in ®
= o0+1 = FZ/LQU) * A-,_g\k,\) & A;M\ e A/Lo)
2 & 6 56
2 = A
__—————-Sem"i" s=-1\ Q) \S‘
-\
= axr = A (‘\)Z‘Q“'\\) < A’z(‘\\é‘\ +\) “Ang{::) i P
o 70

| = Avq () =

T\\'\‘f& : {a.kc S = omy wwmber Q.xaqﬂ‘ $=zo0 , $=-\

S oA

and. sinte  we wnave 2 ¥nRmoums P S

choo
e sdive  thens e
A'B A
d V N
1+ = AOY ) + A (YU + 2041) &0 LY
>
; se2 m ©

2+% = A\L'L)l (2+\) % AL (D) x 2 (%) o (V) \‘S

4= 128, + 6 R w2
-

3 = 2P +2Rr 3 = M2k =0 o Ax Ao

(s-%n)

(PO\QS of \-\('Q)

5

y
A enek

-

£ <= 120 +6AL o 2R, « Ay =)\



